Hinsdale Dance Academy 2022-2023 Tuition Rates

Annual Registration Fee \$30.00

Tuition Training Packages

Each package is designed to help accelerate the dancer's progress while offering you a greater hourly discount for being a full-time student.

*Color denotes that level's dress code color. All uniforms (except for Pre-Professional) are available at Saxton Dance Shoppe.

Level I

1 Ballet class and 1 Jazz class (1.75 hours/week)

\$134.00 per month

(add an additional academy/project class for \$18.00/hour)

Level II-A

2 Ballet classes and Jazz or Modern (3.50 hours/week) \$224.18 per month (add an additional academy/project class for \$16.00/hour)

Level II-B

2 Ballet classes, Pre-Pointe, Jazz or Modern (4.50 hours/week) \$270.00 per month

(add an additional academy/project class for \$15.00/hour)

Level III-A/Level III-B

3 Ballet classes, 2 pointe classes, Progressing Ballet Technique, Modern (8.50 hours/week)

\$403.20 per month

(add an additional academy/project class for \$14.00/hour)

Level IV

4 Ballet classes, Pointe/Variations, Progressing Ballet Technique, Contemporary and Modern (10.25 hours/week) \$441.26 per month

(add an additional academy/project class for \$12.00/hour)

Level V/Pre-Professional

5 Ballet classes, Pointe/Variations, Progressing Ballet Technique, Contemporary and Modern (11.75 hours/week) \$509.00

(add an additional academy/project class for \$11.00/hour)

Hourly Rate Chart

The hourly rate chart is designed for **Academy, Project and Adult Division** clients who are not taking the training program packages (if applicable). The hourly rate decreases as the number of hours the dancer takes increases. The hourly rate chart does not apply to Young Children's Program classes.

Drop-In Rate: \$25.00 (.75 hours or 1 hour), \$20.00 (.50 hours)

# of Hours	Hourly Rate	\$ Per Week	\$ Per Month
.50	\$25.00	\$12.50	\$50.00
.75	\$23.00	\$17.25	\$69.00
1.0	\$20.00	\$20.00	\$80.00
1.25	\$20.00	\$25.00	\$100.00
1.5	\$20.00	\$30.00	\$120.00
1.75	\$20.00	\$35.00	\$140.00
2.0	\$17.59	\$35.18	\$140.72
2.25	\$17.59	\$39.58	\$158.32
2.50	\$17.59	\$43.98	\$175.92
2.75	\$17.59	\$48.38	\$193.52
3.0	\$16.80	\$50.40	\$201.60
3.25	\$16.80	\$54.60	\$218.40
3.5	\$16.80	\$58.80	\$235.20
3.75	\$16.80	\$63.00	\$252.00
4.0	\$16.01	\$64.04	\$256.16
4.25	U W (\$16.01)	///// \$68.05	\$272.20
4.5	\$16.01	\$72.05	\$288.20
4.75	\$16.01	\$76.05	\$304.20
5.0	\$15.49	\$77.45	\$309.80
5.25	\$15.49	\$81.32	\$325.28
5.50	\$15.49	\$85.20	\$340.80
5.75	\$15.49	\$89.07	\$356.28
6.0	\$15.23	\$91.38	\$365.52
6.25	\$15.23	\$95.19	\$380.76
6.5	\$15.23	\$98.99	\$395.96
6.75	\$15.23	\$102.80	\$411.20
7.0	\$14.96	\$104.72	\$418.88
7.25	\$14.96	\$108.46	\$433.84
7.5	\$14.96	\$112.20	\$448.80
7.75	\$14.96	\$115.94	\$463.76
8+	\$14.50		

Hinsdale Dance Academy's Young Children's Program (YCP) For Children Ages 0-6 years

2022-2023 Tuition Rates

Pre-Ballet I (ages 3-4) & Pre-Ballet II (ages 5-6) \$80.00 per month



2022-2023 Uniforms

Available at Saxton Dance Shoppe!

Young Children's Program

Mommy and Me (Ages 0-2) Stretchy and comfortable clothing or dance attire of your choice.

Pre-Ballet I & Tap/Jazz combo I (Ages 3-4) Capezio light pink cap sleeve leotard, Capezio pink tights, Capezio pink canvas "Hanami" ballet slippers, Capezio black tap shoes (for Tap/Jazz combo I), and hair in a bun. NO SKIRTS/TUTUS.

Pre-Ballet II, Tap II, Jazz/Hip Hop II (Ages 5-6) Capezio light blue cap sleeve leotard, Capezio pink tights, Capezio pink canvas "Hanami" ballet slippers, Capezio black tap shoes (for Tap II), Capezio black slip-on jazz shoes (for Jazz/Hip Hop) and hair in a bun. NO SKIRTS/TUTUS.

Hinsdale Dance Academy

- Level I-Capezio royal blue camisole leotard, Capezio ballet pink convertible tights, Capezio pink canvas "Hanami" ballet slippers, Capezio black slip-on jazz shoes (for Level I Jazz), and hair in a bun. NO SKIRTS OR TUTUS.
- Level II-A Capezio hunter green camisole leotard, Capezio ballet pink convertible tights, Capezio pink canvas "Hanami" ballet slippers, Capezio black slip-on jazz shoes (for Level II-A Jazz), and hair in a bun. NO SKIRTS OR TUTUS.
 - Level II-B Capezio burgundy camisole leotard, Capezio ballet pink convertible tights, Capezio pink canvas "Hanami" ballet slippers, Capezio black slip-on jazz shoes (for Level II-B Jazz), and hair in a bun. NO SKIRTS OR TUTUS.
- Level III-A Mirella garnet camisole leotard, Capezio ballet pink convertible tights, Capezio pink canvas "Hanami" ballet slippers, pointe shoes (if applicable) and hair in a bun. NO SKIRTS OR TUTUS.
- Level III-B Mirella blackberry camisole leotard, Capezio ballet pink convertible tights, Capezio pink canvas "Hanami" ballet slippers, Capezio black slip-on jazz shoes (for Level I Jazz), pointe shoes, and hair in a bun. NO SKIRTS OR TUTUS.

Level IV Mirella black camisole leotard, Capezio theatrical pink convertible tights with seams, Capezio pink canvas "Hanami" ballet slippers, Capezio black slip-on jazz shoes (for Level IV/V/Pre-Pro Jazz), pointe shoes, and hair in a bun. NO SKIRTS OR TUTUS.

Level V Wear Moi "Abbie" Fuchsia camisole leotard, Capezio theatrical pink convertible tights with seams, Capezio pink canvas "Hanami" ballet slippers, Capezio black slip-on jazz shoes (for Level IV/V/Pre-Pro Jazz), pointe shoes and hair in a bun. NO SKIRTS OR TUTUS.

Pre-Professional Yumiko "Tamara" dark blue camisole leotard (not available at Saxton's), Capezio theatrical pink convertible tights with seams, Capezio pink canvas "Hanami" ballet slippers, Capezio black slip-on jazz shoes (for Level I Jazz), pointe shoes and hair in a bun. NO SKIRTS OR TUTUS.

Adult Division: Dance attire of your choice with ballet slippers or bare feet (for PBT).

Hinsdale Dance Project

Project Ballet-Ballet Attire of your choice with ballet slippers and hair in a bun.

Project Jazz/Hip Hop- Stretchy/comfortable dance attire with jazz shoes and hair up.

Project Lyrical/Contemporary- Stretchy/comfortable dance attire with jazz shoes and hair up.